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1. it easier for me to understand 2. noise kept him from sleeping all night
3. I had the watch repaired at the shop 4. Being so tired, I went to bed earlier than usual

5. The way in which he did his work provides valuable lesson.
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1. respect the other person’s ideas and give them 2. When it comes to playing tennis, he always
3. later with her health much improved 4. it turned out that I was mistaken
5. is through these reports that we get most of the information we make use of
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(1) Nuts are not[aren’t] easy to digest.

(2) Being a foreigner was not[wasn’t] a handicap.

(3) The sun does not[doesn’t] go around the earth.

(4) Women did not[didn’t] have the vote in ancient Rome.
(5) The police have not[haven’t] caught the thief.

(6) Visitors cannot[can’t] fish on this side of the river.

(7) Is his car being repaired now?
(8) Did they have a good reason for doing that?
(9) Will she have to make a decision by herself?
(10) What is that book about?
(11) How did he get into the house?
(12) Who attended the meeting?
(13) Why is he allowed to drink?
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